Halves and quarters

0 Half of the hundred square is shaded.

a) How many hundredths
are shaded? SO

b) How many tenths
are shaded? 5

¢) Complete the equivalent

fractions.
1_[ 50 1_
2 100 2

5
10
O

d) Write % as a decimal.

0 Here is a blank hundred square.

a) Shade % @

b) How many hundredths

are shaded? 25
Z,ZZZ’Z ¢) Complete the equivalent
AAAAT fraction.
M || I 25
m\/mimynim 1_
4 100
d) Write % as a decimal. 025

e Here is a blank hundred square.

7 %'72‘72"71 a) Shade% @
ZZ,IZZZA b) How many hundredths
Al A are shaded? 75
m|/kiminin
AV A D7 ’h%% ¢) Complete the equivalent
Z%Zﬁgﬁ%ﬁnz fraction.
2 AU A AL 3 | 75
ml M mimmint /rm¥nvh 2= 100

d) Write % as a decimal. o-15

I don’'t need to shade

a hundred square to write % as
a decimal because I already know
what 1 and 1 are as decimals.
2 4
How does this help Annie? @
00000 050000] 0000000000
00000 olelelele! [l Rititittidelelelele
00009 50000 Heoeee 00000
00000 olelelele! 2000000000
00000 lolelelele) ididitititetelelele)
0000000000 5000000000
5000000000 5O00000000
oleletelel i ditit:d olelelelel: i ditit:d
oleleteleli i titit:d 5000000000

Both Rekenreks represent one quarter.

Is the statement true or false? true

Talk about it with a partner.
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o Fill in the missing fractions and decimals on the number line.

d
2

oS 14O

o Complete the equivalent fractions and decimals.

a)

b)

1
b
|
!

025

2= 025
2=1 015
2=| 025
2= 035

I
I
0.5

e)

f)

g)

h)

—1 bW

035

i

25 _
100 4
3] s
4 100

_1

O 5 - 2
50 _ |
100 2

— —— —

05+05=1

This bar model shows that % is equivalent to 0.5

0.5 0.5

Draw a bar model to show that % is equivalent to 0.25

-

O-25 O -as O-as 0-2s

Use your knowledge of equivalent fractions to convert
between fractions and decimals.

2 L6
b) = = IS
) 20=10 25 = - °
21 300
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